HM-3 / SECTION-A

AT vty e e sqgio o s Sad ffad | 1
. State the use of earth wire in domestic electric ciruit.
' /vﬁ/aam%m%ﬁf'ﬁmﬁﬁﬁ?ﬁmﬁwm% 1

MNawme two tissues which provide control and coordination in animals.

Jﬁrﬁ%mﬁn%@tm&nﬁrﬁlﬁaﬁﬁm 1

Lizgt two indirect ways of using solar energy.

o 4 5 i o :
/’é{aﬁﬁwwaﬁﬁq st forwit Tt sfufean & 39 =1 701 Ed €1 2
X List four observations that help us to determine wheﬂmr a chemical reaction has '

taken place.

Hr e A F o fafee o oeed sreemaer s s s feg e 0 2
Talfee Suges =90 &1 39 7O & gieefia o HfiE

List two properties of gold and silver which make them most suitable for
making ornaments according to our need. Also define these properties.

form R0 =t SR GRTE | sa gfE @ A ftEd ST el ity | famm wam 2
ot ¥ gE ufny ¥ Y vER S e 2

Define electric current. Name the device used to measme electric current in a

Clrcmt [HOW is it connected in the circuit.? e

-2

70 %ﬂﬁiﬂﬁﬁm vt Tl g Senfed faeg ww w1 9w fafed ) 3% fage aw =
THL U &I fagg urr &t gern Wyl w6 < S & 2w o sl 3
vifed =1 gl g witag)

Name the type of electric current generated by most of the power stations in our
country. Why is it preferred over the other type of electric current ? State the
frequency of power supply generated in India.

/3’/ @) Trfafen Tamfe wiem W 59 FI9T Fe0s + 2A1 — ALOs + 2Fe © 3
S =0 arfufirar St g 5 21 9 T e E2
(b) T wmed = ereEa wftaiftg Fifeg @R swEa sfufee o euefa g
TUT IUEES & AH [@ag |

(a) Consider the following chemical Equation :
FeaOs + ZA1 — Al:Os 4+ 2Fe
Name two categories in which you can place this reaction.

(b) Define the term ‘Oxidation’ of a substance and name the substance
oxidised and the oxidising agent in the above reaction.

A, ydem a5 v SfAw 9 afufma 929 sEmd =1 e 7 3
g @l =) 29 & fag = gt gdww fafan

Define a decomposition reaction. Why is this reaction always endothermic ?
Write a chemical equation to represent a decomposition reaction .
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(i)  NaxCOs
(iif) NaOH
Write balanced chemical equations for the reaction of dil HCI with :
(1) Zn metal
(ii) NaCO;
(iii)  NaOH
5

AL Hiferm % 3 i o e Fif fr g s wgei & ame i oS
o fEw
List three properties of sodium in which it differs from the general physical
“ properties of most metals.

B f? e w1 e fram ffae ao saet nivwd =i g 3
: . \~ U foregd 3l 5 A w1 e wr St € w30 YEve § 15 x 10° ] T S AT
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State Joule's law of heating and give it's mathematical form.

An electric iron takes a current of 5A and develops 1.5 x 11] .;;I of heat energy in
. 30s. Calculate the resistance of the electriciron. 3 |

f\’/ (iy = faem e
(i) 50 €S § IuE e
(iii)  F9YFT Tl YR AR UEF g2 A 9 T 6.00 ¥
An electric geyser rated 1500 W, 250 V is connected to a 250 V line mains.

Calculate :
_ (i) the electric current drawn by it
AR (if) . energy consumed by it in 50 hours

(iif)  costof energy consumed if each unit costs T 6.00

4. Topdl Foeg ftes 4w #1 v saed St UF ey F 5A W wE £ 3
| 38 Uiy H wEe € AT 100 W, 220 V F SR w1 arfua s g St

| r'-'*S:tate the function of a “fuse” in an electric circuit. A circuit has a fuse of 5A.
Find the maximum number of 100 W, 220 V lamps that can be used in this

circuit,

TG % 2 79 o fafed s 3w vem e ye 9 3

./ List three characteristics of lungs which make it an efficient respiratory surface.
AIETsF TY1 F%%re] TN YRR o 31 WaTed 307 1 R YR 3T ween % fau 5 3
aAfehlegd & 2

Brain and Spinal Cord are two vital organs of our body’. How is our body
designed to protect them ?
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A florist sprinkled a plant hormone to prevent wilting of leaves. Name the
hormone he must have used. Give two more example of plant hormones and
also write their function.

”~
ﬂ/ Sta A F 7 S W gaE w sl = am fafew S5 e F qe wew w0 3
™ BT = A S TR w UE ey 3vE % w9 ¥ ST w1 ¥ 9wy vEEs
Fifem |
What is biomass ? Name the reaction that takes place in a biogas plant. Write
main constituent of biogas. List two reasons for considering the biogas an ideal
uel for domestic use.

HIeR Hw # § ? wien A w1 S % 9 F T F S S 8 8 ey foran 3
What is a solar cell ? State two advantages of using solar cells as a source of
energy.

\jﬂ/ (@) o SE o, TG A e 9y ¥ e v Wi B E L T me 5

H g W HgH =9I gerd 7 17 Y 3HF A % @y fafag )

(b) & R S9E YAiag St 5 i @ gen @ v

(a) Metals like iron, silver and copper get corroded on exposure to air.
Write the chemical name of the substance deposited on their surface
respectively with it's colour, in each case.

(b) List four ways by which rusting can be prevented.

Hggar 4 OR

e 9 sweiv A fadien =i w9 # w soew A s & fan
& =1 Yol o TVEE 92T MY S0 N e Sifau)  sfiEm = vaEts
T fafan

Differentiate between calcination and roasting . Give one example of each.
State the step that is followed after calcination or roasting of the ore. Write
chemical equation for the reaction involved.

1. (a) W9 T H pH WF 5.5 Y F9 9w g aaarﬁ‘emmawﬁm%mn 5

whifery fif <7 o ia] % e = ﬁmmﬂm%:

(by  Sufeerm el & = fafga -
(i) ewEmRH
Gy =@ H

(c) aaaff‘arﬁﬁﬂﬁaﬁ'ﬁ'ﬁfﬂ Fifs faud U Fham @19 B9 = g5 | g9 g4
1 < 1 U SO §

(a) Tooth decay starts when the pH of the moui.h is lower than 5.5. Explain
how does the tooth paste prevent tooth decay.

{b) Mame the acids presentin:
(i) Mettle sting
(i) Curd

o U '
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(c} + State the soil conditions under which a farmer treats the soil of his field
with quick line or slaked line
ET / OR

(a) 3% W A R A, B 99 C § RFF pH WW wEe: 6, 2 a9 9 &1
BIESE STE Wiaw & ARG w9 5 39 faee] = st Fiew | o a6
¥ § Afyehon SR SF WE 7 A F1 0050 T § SUHI FESET A F

Higd R R WWE TS
(b) W HE WA H SEa § Nied 2, & w1 gie =1 9o 39 faro
FHFEE ?

(c) =T = =1 TEtF. AW ud wiie fatE
(a) You have three solutions - A, B, and C having a pH of 6, 2 and 9

2% respectively. Arrange these sclutions in increasing order of hydrogen
i ion concentration. Which of the three is most acidic ? What happens to

the hydrogen ion concentration in A as it is diluted ?

2 (b)  If someone is suffering from a stomach problem called acidity, why is a
solution of baking soda offered as a remedy ?
(c) Write chemical name and formula of baking soda.

22.  fordll geeT o WA ot AR frfan @ sre wa g S < s fafa 5
o o Toreit oot =1 ofedly fof wear &
TF R % Wil 1 9o St et ear 50 m, e 57 85%e 0.01 mm?
a9l TS Fa 5 x 10780 m 2|
Define resistance of a conductor. State two factors on which resistance of a
conductor depends by stating the dependence also.
Calculate the resistance of 50m length of wire of cross - sectional area 0.01 mm?

and of restivity 5 x 1078(km.
SET 7 OR

Tl et o =1 ol % = favaim (v) 99 T SR wated 9w (1) % g9y %
fraw &1 e Fifaw
U foRATRed 3R B T & e & s wifae ) ' & fa fag oftey
P A Eifag ) v 3911 % 9= e ger &1 7% 590

; w)_,-r‘b‘gte the law that gives the relationship between the potential difference (V)
across the two ends of a conductor and the current (I) flowing through it.
Describe an activity to verify this law. Draw circuit diagram for it's verification.
What type of graph is obtained between V and I

23, fordl fereqa ammEm gamER U F iR o SR AR T e d e e e 5
wifaw 1 e sifea Fife -
(i) o | wenfed faea o
(i) IR & el w1 R UREE 9 TEwig 6 S gEe WO
qYE w2 g ;|
i (a) 9w B o1 ge O it et w5 S
e (b)  wwH wenfea forea T A 4w
'. \‘__Dﬁ«r the pattern of magnetic field lines through and around a current carrying
loop. Mark the directions of

(1) electric current flowing through the loop
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{b)

(1)

(i)

(i)

u (@

(a)

(b)

(a)

(k)

magnetic field lines. How would the strength of magnetic field due to a
current carrying loop he affected if : :
the radius the loop is reduced to half of original value, and
the strength of the current through the loop is doubled ?
AT S OR

U ForareRen BRI aviEe T g wer U wfae a1 I9Er fagm am
IO FA H o mEw ¥ Fel ® sonfed fogg am =t fown ww s
1 T ferfe )

ww Ufga 9F ® aR F] Hel ‘A UF et ¥ whiem =i o 12
A Yagor T - '

(a) T oo ‘B fFE S A’ F e o o

(b)  Feel HwEmwE § fagd 9w § ufacd e B |

()  Fec 4 36 YR fo=m vr S =39 w1 fafy % T fafed |
Describe an activity to show how a moving magnet may be used to
generate an electric current. State the rule to find the direction of electric
current generated in the coil.

A coil ‘A’ of insulated copper wire is connected to a galvanometer. What
would you observe when '

(a) a current carrying coil ‘B’ is brought near "A’ ?

(b) strength of current in coil ‘B’ is changed ?

(c) name the process of generating current in the coil in this manner.

A 759 F A w99 wAEd ) AmiteT Fifey -

(i)  %5d % fog =g F SaEetg FE oed €

(i)  AfrirEa o ares o '

=R B -

(i)  EAu Sged ¥ Ty § st au fasieetn s aem-
a7er alfed B 2 1

()  Frer =t fafa di 2 2

Draw a diagram of a longitudinal section of a human heart. Name and

label.

(i) the chamber from which oxygenated blood leaves the heart

(it} vein which carry oxygenated blood.

Give reasons for :

(i) oxygenated and deoxygenated blood are separate in the heart of
marmmeals

(if) ventricles are thick walled.

394t S OR

WA AR e 1 e agd S AT S -

()  FEEEse, WH U 79 F 90 W= B

(i) 3 fored Ui 1 FEm

=+ aifee fa =i -

()  TIEEREl A e Al F e wel sl € |

(i)  HRE T EESHEIE TR & 1Y Vel W gl

: ”l,'y}/ Draw a diagram of human alimentary canal. Name and label

(i) the site of complete digestion of carbohydrates, proteins and fats.
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(i1} organ which secretes pepsin.
(b)  Give reasons why
(i) Herbivores have longer small intestine as compared to
carnivores.
(i) Mucus is secreted along with hydrochloric acid in the stomach.

HM-a/ SECTION - B
U B UF Yo% F997 -Tofl § 50 9ethe & o forea 7 s g dem = - 1
(a) YA Tl & 0@ & e W9 F Ay
(b) SR =1 T1 ufigas
(c) el Hewd &Iy
{d) FHE gt
A student while heating some ferous sulphate crystals in a dry boiling tube will
observe :

(a) water droplets near the mouth of boiling tube
(b) colour change of the crystals

* (gl smell of burning sulphur
: {d)  all of the above
'.i_,/‘lf Hicwam iamEes 7 o g # - 1
- '(a) T UNERM EA (b) U YA WS
() T dien T (d) U e faerm
Calcium oxide or quicklime isa :
(a) transparent liquid . (b}—" a white powder
{c) a yellow paste (d)  ablue solution

27, v wiferm TslREe HeEn #9998 U9 pH T W el wint E @ pH W 1
% =1 101 T <{Tef 81 Sa &1 9% Vel Wi & f NaOH e &
(a) el (b)y  SEMEEA
(c)  Waw &= (d)y  gET T
When a drop of sodium hydroxide solution is placed on a pH paper, the colour
of the paper became dark blue. This observation suggests that NaOH solution
is:
(a) acidic {b) Neutral
{c) strongly basic (d)  weakly basic

28. u® 9 A UE 9g HCl %1 UF pH TR W 3R TF o€ fva o7 o6t o @l 9uF 1
‘\/ B S e 1 pH T HE: -
(@) 27«13 (b)  5wull () 6aar4 (d) 17416

A student placed a drop of HCI on one pH paper and a drop of vinegar on
another. The pH of each as determined by him respectively could be :

@'\ 2and 3 (b) S5and 1 (c) Gand 4 ((d}~1and 6

29. Uk WETE | 7 HC1H U g2t S Aifean SEre S W Y famar 7 fF - 1
(a) U ttem Ty Y geg 2l B
(b)  UH HZ WY HITH oG BRI L
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(d) : ¥ HY T T 309 2l 2
_ adding a pinch of solid sodium carbonate to some dil HCl in a test tube, it is

observed that :
(a) a pungent smelling gas is produced
(b) a pleasant smelling gas is produced
(c)  brown fumes are formed
«(f) *  a gas with brisk effervescence is produced

memﬁwﬁﬁamﬁaﬂwm%ﬁﬁmwm 1

S & o faes -
(a) TR EU B T # (b) T AR
(€ TmRfEEcwm Tl (d) 79 4T SfEd 8 |

When you add some aluminium powder in a solution of copper sulphate then
after some time you find that the solution

turns pale green (b) turns red
() appears colourless (d)  does not change its colour
U,J-If" et fifHa it vete oo W Tene & e Al SO FE: 2 - 1
(a)  SieT 9Yl Wiw B0 (b) B A« e
() e wur Wi &0 (d) =TI A R T

The colours of freshly prepared aqueous solutions of copper sulphate and
ferous sulphate respectively are :

(a yellow and pale green (b) green and blue

c} blue and pale green (1) purple and pale green

32. W& 9Rwy F UF wioty ° yeife fagg v g o i & 9 e favaiw e 1
ﬁiﬁf?ﬂiﬂﬂ%-

@Q

mﬂﬂ‘&’”f;r[ﬁﬁsqﬁmaﬂmﬂei’mﬁw—

100 (b) 10 (c) 1 (d) 0.1
The current flowing through a resistor connected in an electric circuit and the
pc:tentlal d:fference developed across ils endq are shown below,

@ §

The value of resistance gf the resml-or in ohm's is :
(a) 100 1) (c) (dy -01
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33.

s [ [1 ® femre e oftgei o, e w5 uEgais we -

+ A L5/
® ©
A W VLV AN
51} ' 50

+ —

—HHHE—O— A
oV 5V
fig -1 . fig - I

(a) UG IH1ATAMURET T OA

(b) I 9RuEi § OA

(c) =i 9iedl ¥ 1A

(dj  9Rwg 1 H OA TY U9y 1 F 1A

For the circuits shown in figure I and II, the ammeter reading would be :

+®— +®’ =

4 50 50
@ ®
*{gﬂ:— @ ity

fig -1 fig - 11

_;‘/fﬁr 1A in circuit | and OA in circuit [

(b) OA in both circuits
(c) 1A in both circuits
(d) OA in circuit I and IA in circuit II

favaia W faga um w1 Fofa &1 avaad w01 & foe, @ ol A, B A C A
frefafaa e == -

"f”/ ‘J]/ W4
ERE e 4

(A) Rt ©)
T ¢ forees s WET 2, S ¥ -
(@) ATWB (b)y BFAC
() ATgC (d) HaelB
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To study the dependence of current on the th&nﬂal difference, three students
A, B and C plotted the following graph :

V‘/ ?V |
I I 4

(A) (B) ©
(a) Aand B (b) Band C ;
(<) Aand C (d) only B

Wﬁﬂﬁﬁaﬁgﬁqﬂﬂaﬁ R, 991 R, Tl 7¢d oy 719 3 & fau, & e 4

1= =g =i -
R R
+|||] I= iy : .
UL e e
3
&)
G

wﬂﬁﬁvqﬁm%ﬁﬁahmwm%-
(a)  To=E@ a0 I 99 favein v =1 oS e
(b) 1% Y& UIgdi® dfdT V o1 9E Tedi
() 1 AAY[E WSHiF wiFa V &1 ¥ TSgiF
(d) 199V & G TEdE

To determine the equivalent resistance of a series combination of two resistors
R; and R a student arranges the following set up:

, R R,
+{|[ (+ F—wv—ann

+®—
+®—
Which of the following statement will be true for this circuits ?

(a) - Incorrect reading for current I as well as potential difference V
'./{E'T Correct reading for I but incorrect reading for V

() Incorrect reading for | but correct reading for V

(d) Correct reading for bothIand V
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36,

TvesRE W waifed o wfales 1 gen sy 9w S % e, 9w el A il
@l f71 W& 9 el -

Ry
e L]
=AM AN —AA AN
(4)
(B)
R, R, R,

§
e J
:

| HEl W Y A B & -

(a) A (b B © C (d D
To determine the equivalent resistance of three resistors, when connected in a
parallel arrangement, four students connected the resistors as follows :

Ry
ST TR AR
S AN A AN > V‘I{\N =
(A) \—1\4\}\3}\(\—!
(B)
2 S

’ {
I
et
§
W

© o)

The correct set up is that of student
(a) A : ) B (c) & (d D

‘g Hyey ufEE ¥ fAu wem emavas ' wEm F O au H, e i
S9EM H oA amey R -

(a)  OfeTa dig = (b)  THEl H T R e

(c)  waEifea dien (d) =Y T g U ey

To set up the experiment to show that light is necessary for photosynthesis,

experimental leaves should be taken for use from :
(a) any flowering plant

b  destarched potted plant

{c) newly emerged sapling
(d) healthy plant growing on the ground
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38, T e v A e v e a3 e T - !

/m\ff

g
ELy
(@) FAHA (b) FEaE BH
(¢) FawCH (d) ATHIBEEH

Which part of the destarched leaf will have starch when exposed to sunlight.

(a) A only (b} .~ Bonly
{c) C only ~¢d), AandBboth
39 e T e s w9 wen § fu W uE e srert e s % A 1
7 o feremedf = foreht o R -
(@) FAH (b) AR
(c) =t =t fuered was 4§ (d) SO0 HaE H

To prepare a good temporary mount of leaf peel showing many stomata, a
student should take the peel from the :

(a)  Petiole (b)  Midrib
\_..k_“}: Lower surface of the leaf () Upper surface of the leaf
et e ot 3 for Y e e - 1
¢

(a) =@ = R R yER A R w T e
(b) R I ST €

(c) 18 e 21

(@ IwEz R

Identify the correct statement for the given diagram :

&

(a) Epidermal cells have been drawn pmperly
(b Guard cells are missing

Stomata is open
(d) Stomata is closed
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“yaud F ARM CO. Frard @ wEm w1 aweaEs e ¥ fe, fefafaa § 9 1
I Wl At T e -

(A) S Al S =fan

(B)  HomEs H wte gUmEr I B wile

(C) vk H, a6l FfHd KOH e 9 o/ U 8t Tei €M1 =en |

(D) e e o s & W o Tt

e T E - a9l
(a) ATAEB (b) BTAIC
() ATAC (d) ABaaIC

Which of the following precautions are to be taken for a successful run of the

experiment “to show that CO; is given out during respiration ”.

(4)  Cork should be air night

(B)  Seeds in the flask should be totally dry

(€) A small tube with freshly prepared KOH solution should be placed in
the flask

(D). The end of the delivery tube should be above water level

The correct answer is :

(a) Aand B (b) B and C
(c) Aand C (d) A BandC
o TT B2 79 =, S Aol 7 = it - , 1

AFRG o= .
(a)  KOH % ZwE Teirh @ Sifadism sy & e |
(b) it A § frel s eRaiEEE KOH ZR1 S gl
() Tie=pfia @R erstmme w19 Afaw 4 vafa @ ao 9@ B e §
Betuil
(d)  =i%fa == T e Fem Tei | e, e % oa T Tt
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In the given set up, water will rise in the tube because :

= Rubber
» cork

KOH
pellats

Gen‘nr-na.ﬁng seads

(a) Oxygen of air in the flask will be taken up by the KOH pellets.

Carbon dioxide given out by the germinath‘ug seeds will be absorbed by

KOH.

(©) Carbon dioxide given out will go thmugh the glass tube and push water

up into the tube.

()  Moisture of the germinating seeds will reach the water in the beaker

through the dEhVEI}' tube.

~0Co-
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